Marcia Baghair (II) F	Time	F/P/S	Event	Place	Points	Improv
1.21.98S	Nadia Baghai (11) F				
1,918			302C Female 11-11 50 Bro	east 6		-1.13
1.34.298	1:21.98S	F #	304C Female 11-11 100 F	ree 15		0.65
NS F #401C Female 11-11 50 Back NS F #405 Female 11-11 50 Free 1.45.10S F #403B Female 10-10 100 Fty 2 4.84 3.640S F #403B Female 10-10 200 Free 8 2.52.80S F #403B Female 10-10 200 Free 8 2.52.80S F #303B Female 10-10 200 Free 8 2.52.80S F #302B Female 10-10 200 Free 8 3.137.03S F #304S Female 9-9 50 Breast 6 3.137.03S F #304A Female 9-9 100 Back 2 3.143.22S F #304 Female 9-9 100 Back 2 3.50.27S F #401A Female 9-9 50 Brea	41.91S	F #	306C Female 11-11 50 Fly	10		2.56
NS	1:34.29S	F #	310C Female 11-11 100 IN	M 15		0.12
Serilicia Bearelly (10) F	NS	F #	401C Female 11-11 50 Ba	ck		
145,10S	NS	F #	405C Female 11-11 50 Fre	ee		
145,108	Srileia Bearelly	(10) F				
36 408 F # 405B Female 10-10 200 Free 8 1.116 25 2, 208 F # 409B Female 10-10 200 Free 6 21.21 Freya Bennett (9) F 56,668 F # 304A Female 9-9 100 Free 4 .3.11 1.37,038 F # 304A Female 9-9 100 Back 2 1.43,228 F # 304A Female 9-9 100 Back 9 .0.52 50,278 F # 401A Female 9-9 50 Free 11 45,508 F # 401A Female 9-9 50 Free 11 45,508 F # 401A Female 9-9 50 Free 11 2,03,838 F # 405A Female 9-9 50 Free 11	-		403B Female 10-10 100 F	ly 2		4.84
PreyaBennett (9) F #409B Female 10-10 200 Free FreyaBennett (9) FreyaBennett (9) FreyaBennett (9) Free F				•		
Preya Bennett (9) F 56.66S						
F # # # # # # # # # # # # # # # # # #						
1:37.03S	-		302A Female 9-9 50 Breas	et 6		3 11
1:43.22S						
1:45.62S						
50.27S F #401A Female 9-9 50 Back 9 0.52 45.50S F #405A Female 9-9 50 Free 11 3.19 2.05.89S F #407A Female 9-9 200 Free 3 3.26.83S F #409D Female 9-9 200 Free 3 Julius Bennett (12) M 43.20S F #301D Male 12-12 50 Back 12 1.17 1:36.88S F #305D Male 12-12 100 Free 7 1.70 34.24S F #305D Male 12-12 50 Free 7 1.70 1:45.81S F #307D Male 12-12 50 Free 8 5.29 45.91S F #307D Male 12-12 50 Free 11 0.04 1:15.69S F #404D Male 12-12 50 Free 11 0.04 1:29.72S F #408D Male 12-12 50 Free 11 0.04 1.29.72S F #304D Male 12-12 100 Back						
2:05.89S F # 407A Female 9-9 100 Breast 6 Julius Bennett (12) W 43:20S F # 301D Male 12-12 50 Back 12 1.17 1:36.88S F # 301D Male 12-12 100 Fty 5 34.24S F # 307D Male 12-12 100 Breast 13 1.54 2:49.35S F # 307D Male 12-12 200 Free 8 5.29 45.91S F # 402D Male 12-12 100 Breast 10 0.24 1:15.69S F # 404D Male 12-12 50 Breast 10 0.24 1:15.69S F # 404D Male 12-12 100 Free 11 0.04 NS F # 404D Male 12-12 100 Free 11 0.04 1:15.69S F # 404D Male 12-12 100 Back NS F # 406D Male 12-12 100 Back 4.57S<						
A3.20S						
43.20S F # 301D Male 12-12 50 Back 12 1.17 1:36.88S F # 303D Male 12-12 100 Fly 5 34.24S F # 305D Male 12-12 50 Free 7 1.70 1:45.81S F # 307D Male 12-12 100 Breast 13 1.54 2:49.35S F # 307D Male 12-12 50 Breast 10 0.24 45.91S F # 404D Male 12-12 50 Breast 10 0.04 4S.91S F # 404D Male 12-12 100 Free 11 0.04 115.69S F # 404D Male 12-12 100 Free 11 0.04 NS F # 406D Male 12-12 100 Back 1:29.72S F # 301A Male 2-12 100 IM 5 2.55 39.68S F # 305A Male 9-9 50 Bree 3 -1.48 2:59.90S F # 309A Male 9-9 100 Free 3 <td< td=""><td></td><td></td><td>407A Temale 7-7 200 Free</td><td>,</td><td></td><td>-1.23</td></td<>			407A Temale 7-7 200 Free	,		-1.23
1:36.88S F # 303D Male 12-12 100 Fly 5 34.24S F # 305D Male 12-12 50 Free 7 1.70 1:45.81S F # 307D Male 12-12 100 Breast 13 1.54 2:49.35S F # 309D Male 12-12 200 Free 8 5.29 45.91S F # 402D Male 12-12 50 Breast 10 0.24 1:15.69S F # 404D Male 12-12 100 Free 11 0.04 NS F # 406D Male 12-12 100 Back 1:29.72S F # 301A Male 12-12 100 Back 45.07S F # 301A Male 9-9 50 Bree 3			1201D M-1- 12 12 50 D1	12		1.17
34.24S F # 305D Male 12-12 50 Free 7 1.70 1:45.81S F # 307D Male 12-12 100 Breast 13 1.54 2:49.35S F # 309D Male 12-12 200 Free 8 5.29 45.91S F # 402D Male 12-12 50 Breast 10 0.24 1:15.69S F # 404D Male 12-12 100 Free 11 0.04 NS F # 406D Male 12-12 100 Back NS F # 40BD Male 12-12 100 IM 12 3.92 Balthazar Bradshaw (9) # 45.07S F # 301A Male 9-9 50 Back 5 2.55 3 9.68S F # 305A Male 9-9 50 Free 3 -1.05 1:28.53S F # 404A Male 9-9 100 Free 3 -10.55 1:28.63S F # 404A Male 9-9 100 Free 3 48.16G F # 302D Female 12-12 5						
1:45.81S F #307D Male 12-12 100 Breast 13 1.54 2:49.35S F #309D Male 12-12 200 Free 8 5.29 45.91S F #402D Male 12-12 50 Breast 10 0.24 1:15.69S F #404D Male 12-12 100 Free 11 0.04 NS F #406D Male 12-12 100 Back NS F #408D Male 12-12 100 IM 12 3.92 Balthazar Bradshaw (9) W 45.07S F #301A Male 9-9 50 Back 5 -2.55 3.9.68S F #305A Male 9-9 50 Free 3 -10.55 3.9.68S F #309A Male 9-9 100 Free 3 -10.55 1:28.53S F #404A Male 9-9 100 Free 3 -10.55 1:26.24S F #404A Male 9-9 100 Free 3 48.16S F #304D Female 12-12			•			
2:49.35S F #309D Male 12-12 200 Free 8 5.29 45.91S F #402D Male 12-12 50 Breast 10 0.24 1:15.69S F #404D Male 12-12 100 Free 11 0.04 NS F #406D Male 12-12 100 Back NS F #410D Male 12-12 100 IM 12 3.92 Balthazar Bradshaw (9) M 45.07S F #301A Male 9-9 50 Back 5 2.55 39.68S F #305A Male 9-9 50 Free 3 10.55 1:28.53S F #304A Male 9-9 100 Free 3 -10.55 1:28.53S F #404A Male 9-9 100 Free 3 1:46.44S F #410A Male 9-9 100 Free 3 1:26.25S F #302D Female 12-12 50 Breast 20 -4.37 1:26.25S F #304D Female 12-12 100 IM						
45.91S F #402D Male 12-12 50 Breast 10 0.24 1:15.69S F #404D Male 12-12 100 Free 11 0.04 NS F #406D Male 12-12 50 Fly NS F #40B Male 12-12 100 Back 3.92 Balthazar Bradshaw (9) W 12 3.92 Balthazar Bradshaw (9) W 3.92 3.92 Balthazar Bradshaw (9) W 3.92 3.92 Balthazar Bradshaw (9) W 3.92 -2.55 3.9.68S F #301A Male 9-9 50 Back 5 -2.55 3.9.68S F #309A Male 9-9 200 Free 3 -10.55 1:28.53S F #404A Male 9-9 100 Free 3						
1:15.69S F # 404D Male 12-12 100 Free 11 0.04 NS F # 406D Male 12-12 50 Fly NS F # 408D Male 12-12 100 Back 3.92 Balthazar Bradshaw (9) W 3.92 3.92 Balthazar Bradshaw (9) W 3.92 3.92 Balthazar Bradshaw (9) W 3.92 3.92 3.92 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>						
NS F #406D Male 12-12 50 Fly NS F #408D Male 12-12 100 Back 3.92 Balthazar Bradshaw (9) M 45.07S F #301A Male 9-9 50 Back 5 -2.55 39.68S F #305A Male 9-9 50 Free 3 -1.48 2:59.90S F #309A Male 9-9 200 Free 3 -10.55 1:28.53S F #404A Male 9-9 100 Free 3 1:46.44S F #410A Male 9-9 100 IM 4 Amelie Gilardi (12) F 48.16S F #302D Female 12-12 50 Breast 20 -4.37 1:26.25S F #304D Female 12-12 100 Free 17 1:30.43S F #308D Female 12-12 100 Back 10 -3.55 DQ F #310D Female 12-12 50 Back 16 -5.53 36.61S F #405D						
NS F #408D Male 12-12 100 Back 3.92 Balthazar Bradshaw (9) W 45.07S F #301A Male 9-9 50 Back 5 -2.55 39.68S F #305A Male 9-9 50 Free 3 -1.48 2:59.90S F #309A Male 9-9 200 Free 3 -10.55 1:28.53S F #404A Male 9-9 100 Free 3 1:46.44S F #410A Male 9-9 100 IM 4 Amelie Gilardi (12) F 48.16S F #302D Female 12-12 50 Breast 20 -4.37 1:26.25S F #304D Female 12-12 100 Free 17 1:30.43S F #30BD Female 12-12 100 Back 10 -3.55 DQ F #310D Female 12-12 50 Back 16 -5.53 36.61S F #405D Female 12-12 50 Free 19 -7.40						
1:29.72S F # 410D Male 12-12 100 IM 12 3.92 Balthazar Bradshaw (9) M 45.07S F # 301A Male 9-9 50 Back 5 -2.55 39.68S F # 305A Male 9-9 50 Free 3 -1.48 2:59.90S F # 309A Male 9-9 200 Free 3 -10.55 1:28.53S F # 404A Male 9-9 100 Free 3 1:46.44S F # 410A Male 9-9 100 IM 4 Amelie Gilardi (12) F 48.16S F # 302D Female 12-12 50 Breast 20 -4.37 1:26.25S F # 304D Female 12-12 100 Free 17 1:30.43S F # 308D Female 12-12 100 Back 10 -3.55 DQ F # 310D Female 12-12 50 Back 16 -5.53 36.61S F # 405D Female 12-12 50 Free 19 -7.40			•			
Balthazar Bradshaw (9) M 45.07S F # 301A Male 9-9 50 Back 5 -2.55 39.68S F # 305A Male 9-9 50 Free 3 -1.48 2:59.90S F # 309A Male 9-9 200 Free 3 -10.55 1:28.53S F # 404A Male 9-9 100 Free 3 1:46.44S F # 410A Male 9-9 100 IM 4 Amelic Gilardi (12) F 48.16S F # 302D Female 12-12 50 Breast 20 -4.37 1:26.25S F # 304D Female 12-12 100 Free 17 1:30.43S F # 308D Female 12-12 100 Back 10 -3.55 DQ F # 310D Female 12-12 100 IM 41.73S F # 401D Female 12-12 50 Back 16 -5.53 36.61S F # 405D Female 12-12 50 Free 19 -7.40						
45.07S F #301A Male 9-9 50 Back 5 -2.55 39.68S F #305A Male 9-9 50 Free 3 -1.48 2:59.90S F #309A Male 9-9 200 Free 3 -10.55 1:28.53S F #404A Male 9-9 100 Free 3 1:46.44S F #410A Male 9-9 100 IM 4 Amelie Gilardi (12) F 48.16S F #302D Female 12-12 50 Breast 20 -4.37 1:26.25S F #304D Female 12-12 100 Free 17 1:30.43S F #308D Female 12-12 100 Back 10 -3.55 DQ F #310D Female 12-12 100 IM 41.73S F #401D Female 12-12 50 Back 16 -5.53 36.61S F #405D Female 12-12 50 Free 19 -7.40			410D Male 12-12 100 IM	12		3.92
39.68S F # 305A Male 9-9 50 Free 3 -1.48 2:59.90S F # 309A Male 9-9 200 Free 3 -10.55 1:28.53S F # 404A Male 9-9 100 Free 3 1:46.44S F # 410A Male 9-9 100 IM 4 Amelie Gilardi (12) F 48.16S F # 302D Female 12-12 50 Breast 20 -4.37 1:26.25S F # 304D Female 12-12 100 Free 17 1:30.43S F # 308D Female 12-12 100 Back 10 -3.55 DQ F # 310D Female 12-12 100 IM 41.73S F # 401D Female 12-12 50 Back 16 -5.53 3 -7.40						
2:59.90S F # 309A Male 9-9 200 Free 3 -10.55 1:28.53S F # 404A Male 9-9 100 Free 3 1:46.44S F # 410A Male 9-9 100 IM 4 Amelie Gilardi (12) F 48.16S F # 302D Female 12-12 50 Breast 20 -4.37 1:26.25S F # 304D Female 12-12 100 Free 17 1:30.43S F # 308D Female 12-12 100 Back 10 -3.55 DQ F # 310D Female 12-12 100 IM 41.73S F # 401D Female 12-12 50 Back 16 -5.53 3 -5.53 41.73S F # 405D Female 12-12 50 Free 19 -7.40						
1:28.53S F #404A Male 9-9 100 Free 3 1:46.44S F #410A Male 9-9 100 IM 4 Amelie Gilardi (12) F 48.16S F #302D Female 12-12 50 Breast 20 -4.37 1:26.25S F #304D Female 12-12 100 Free 17 1:30.43S F #308D Female 12-12 100 Back 10 -3.55 DQ F #310D Female 12-12 100 IM 41.73S F #401D Female 12-12 50 Back 16 -5.53 36.61S F #405D Female 12-12 50 Free 19 -7.40						
1:46.44S F #410A Male 9-9 100 IM 4 Amelie Gilardi (12) F 48.16S F #302D Female 12-12 50 Breast 20 -4.37 1:26.25S F #304D Female 12-12 100 Free 17 1:30.43S F #308D Female 12-12 100 Back 10 -3.55 DQ F #310D Female 12-12 100 IM 41.73S F #401D Female 12-12 50 Back 16 -5.53 36.61S F #405D Female 12-12 50 Free 19 -7.40				3		-10.55
Amelie Gilardi (12) F 48.16S F #302D Female 12-12 50 Breast 20 -4.37 1:26.25S F #304D Female 12-12 100 Free 17 1:30.43S F #308D Female 12-12 100 Back 10 -3.55 DQ F #310D Female 12-12 100 IM 41.73S F #401D Female 12-12 50 Back 16 -5.53 36.61S F #405D Female 12-12 50 Free 19 -7.40						
48.16S F # 302D Female 12-12 50 Breast 20 -4.37 1:26.25S F # 304D Female 12-12 100 Free 17 1:30.43S F # 308D Female 12-12 100 Back 10 -3.55 DQ F # 310D Female 12-12 100 IM 41.73S F # 401D Female 12-12 50 Back 16 -5.53 36.61S F # 405D Female 12-12 50 Free 19 -7.40	1:46.44S	F #	410A Male 9-9 100 IM	4		
1:26.258 F # 304D Female 12-12 100 Free 17 1:30.438 F # 308D Female 12-12 100 Back 10 -3.55 DQ F # 310D Female 12-12 100 IM 41.738 F # 401D Female 12-12 50 Back 16 -5.53 36.618 F # 405D Female 12-12 50 Free 19 -7.40		(12) F				
1:30.43S F # 308D Female 12-12 100 Back 10 -3.55 DQ F # 310D Female 12-12 100 IM 41.73S F # 401D Female 12-12 50 Back 16 -5.53 36.61S F # 405D Female 12-12 50 Free 19 -7.40	48.16S	F #	302D Female 12-12 50 Br	east 20		-4.37
DQ F #310D Female 12-12 100 IM 41.73S F #401D Female 12-12 50 Back 16 -5.53 36.61S F #405D Female 12-12 50 Free 19 -7.40	1:26.25S	F #	E 304D Female 12-12 100 F	ree 17		
41.73S F # 401D Female 12-12 50 Back 165.53 36.61S F # 405D Female 12-12 50 Free 197.40	1:30.43S	F #	308D Female 12-12 100 B	ack 10		-3.55
36.61S F # 405D Female 12-12 50 Free 197.40		F #	310D Female 12-12 100 II	М		
	41.73S	F #	401D Female 12-12 50 Ba	ck 16		-5.53
1:48.85S F # 407D Female 12-12 100 Breast 14 1.63	36.61S	F #	405D Female 12-12 50 Fre	ee 19		-7.40
	1:48.85S	F #	407D Female 12-12 100 B	reast 14		1.63

Time	F/P/S	Event	Place	Points	Improv
Clara Gilardi (10) F				
48.32S	F #30	2B Female 10-10 50 Breast	9		-0.71
1:26.32S	F #30	4B Female 10-10 100 Free	14		0.22
1:32.60S	F #30	8B Female 10-10 100 Back	6		
1:37.788	F #31	0B Female 10-10 100 IM	10		
42.74S	F #40	1B Female 10-10 50 Back	6		0.52
37.77S	F # 40	5B Female 10-10 50 Free	11		-2.14
1:47.39S	F # 40	7B Female 10-10 100 Breast	6		-0.84
Talia Goodwin	(13) F				
DQ	F #30	2E Female 13-13 50 Breast			
1:04.63S	F #30	4E Female 13-13 100 Free	1		-0.66
33.96S	F #30	6E Female 13-13 50 Fly	1		0.48
1:18.54S	F #30	8E Female 13-13 100 Back	3		2.24
2:44.84S	F #31	1A Female 13-13 200 IM	2		2.57
Betsy Hunter (11) F				
48.60S	F #30	2C Female 11-11 50 Breast	14		-3.02
1:23.18S	F #30	4C Female 11-11 100 Free	16		-8.94
49.66S	F #30	6C Female 11-11 50 Fly	16		1.03
1:36.21S	F #30	8C Female 11-11 100 Back	14		-8.61
1:38.11S	F #31	0C Female 11-11 100 IM	18		1.30
45.55S	F #40	1C Female 11-11 50 Back	15		-0.90
1:56.96S	F #40	3C Female 11-11 100 Fly	4		
39.67S	F #40	5C Female 11-11 50 Free	22		1.39
1:51.42S	F #40	7C Female 11-11 100 Breast	13		2.28
3:05.93S	F #40	9C Female 11-11 200 Free	10		2.87
Chloe Jacob (1	0) F				
42.37S	F #40	1B Female 10-10 50 Back	4		-0.64
36.02S	F #40	5B Female 10-10 50 Free	7		-2.96
2:49.81S	F #40	9B Female 10-10 200 Free	2		
Megan Kemp (11) F				
49.74S	F #30	2C Female 11-11 50 Breast	15		-1.81
1:18.24S	F #30	4C Female 11-11 100 Free	10		-3.28
39.94S	F #30		8		1.83
1:30.77S	F #30	· ·	10		-2.83
1:30.63S	F #31		8		-0.57
41.26S	F #40	1C Female 11-11 50 Back	5		-0.36
34.44S	F #40		8		0.27
2:54.09S	F #40		7		-1.17
Matilda Littlem	ore (10) F				
41.96S	F #30	6B Female 10-10 50 Fly	3		-1.81
1:34.06S	F #31	•	6		0.13
2:53.66S	F #40		7		-7.20

Time	F/P/S		Event	Place	Points	Improv
Sophia Member	y (9) F					
58.14S	F	# 302A	Female 9-9 50 Breast	11		-1.06
1:55.15S	F	# 304A	Female 9-9 100 Free	8		-19.94
1:05.32S	F	# 306A	Female 9-9 50 Fly	6		-1.24
2:05.10S	F	# 308A	Female 9-9 100 Back	3		
2:09.18S	F	# 310A	Female 9-9 100 IM	9		-4.47
53.53S	F	# 401A	Female 9-9 50 Back	12		-4.90
55.18S	F	# 405A	Female 9-9 50 Free	16		4.04
2:14.28S	F	# 407A	Female 9-9 100 Breast	7		
Connor Meyers	(9) M					
46.29S	F	# 301A	Male 9-9 50 Back	6		-3.15
39.86S	F	# 305A	Male 9-9 50 Free	4		-0.19
56.04S	F	# 402A	Male 9-9 50 Breast	5		-0.17
1:33.15S	F	# 404A	Male 9-9 100 Free	4		-1.55
57.19S	F	# 406A	Male 9-9 50 Fly	6		-4.69
DQ	F	# 408A	Male 9-9 100 Back			
1:45.52S	F	# 410A	Male 9-9 100 IM	3		-3.27
Charlotte Millig	gan (10) F					
47.07S	F	# 302B	Female 10-10 50 Breast	5		0.75
1:33.64S	F	# 304B	Female 10-10 100 Free	21		-12.78
50.67S	F	# 306B	Female 10-10 50 Fly	12		2.41
47.04S	F	# 401B	Female 10-10 50 Back	12		-2.28
1:46.74S	F	# 407B	Female 10-10 100 Breast	5		1.73
Sofia-Nur Nizar	(10) F					
53.20S	F	# 302B	Female 10-10 50 Breast	17		-5.99
1:41.56S	F	# 304B	Female 10-10 100 Free	25		-4.71
59.19S	F	# 306B	Female 10-10 50 Fly	17		5.80
DQ	F	# 308B	Female 10-10 100 Back			
1:53.70S	F	# 310B	Female 10-10 100 IM	20		-3.58
Mathew Peters	(9) M					
48.95S	F	# 301A	Male 9-9 50 Back	9		-2.48
2:02.23S	F	# 307A	Male 9-9 100 Breast	2		
3:26.00S	F	# 309A	Male 9-9 200 Free	6		-24.92
55.70S	F	# 402A	Male 9-9 50 Breast	4		2.79
1:34.41S	F	# 404A	Male 9-9 100 Free	5		-12.50
49.51S	F	# 406A	Male 9-9 50 Fly	3		0.54
DQ	F	# 408A	Male 9-9 100 Back			
1:44.33S	F	# 410A	Male 9-9 100 IM	2		-11.22
Virginia Radclif	ffe (10) F					
50.19S	F	# 302B	Female 10-10 50 Breast	11		-2.19
DQ	F	# 306B	Female 10-10 50 Fly			
1:29.93S	F	# 308B	Female 10-10 100 Back	3		-7.59
NS	F	# 310B	Female 10-10 100 IM			
40.96S	F	# 401B	Female 10-10 50 Back	3		-3.16
34.81S	F	# 405B	Female 10-10 50 Free	3		-0.40
2:58.48S	F	# 409B	Female 10-10 200 Free	9		-11.89

Time	F/P/S		Event	Place	Points	Improv
Caterina Revell	i (10) F					
54.49S	F	# 302B	Female 10-10 50 Breast	20		0.11
1:32.11S	F	# 304B	Female 10-10 100 Free	17		-6.25
49.70S	F	# 306B	Female 10-10 50 Fly	10		0.47
1:34.23S	F	# 308B	Female 10-10 100 Back	9		-13.39
1:40.18S	F	# 310B	Female 10-10 100 IM	13		-8.07
43.71S	F	# 401B	Female 10-10 50 Back	7		-1.13
NS	F	# 403B	Female 10-10 100 Fly			
41.03S	F	# 405B	Female 10-10 50 Free	15		4.48
1:58.68S	F	# 407B	Female 10-10 100 Breast	13		
3:13.398	F	# 409B	Female 10-10 200 Free	10		14.96
Oliver Ritchie (11) M					
39.35S	F	# 301C	Male 11-11 50 Back	7		-1.18
35.05S	F	# 305C	Male 11-11 50 Free	9		0.51
1:18.27S	F	# 404C	Male 11-11 100 Free	12		-1.51
43.54S	F	# 406C	Male 11-11 50 Fly	7		3.43
1:26.89S	F	# 408C	Male 11-11 100 Back	5		-0.09
Esther-Mae Riz	zo (10) F					
1:28.47S	F	# 304B	Female 10-10 100 Free	15		-13.50
1:41.46S	F	# 308B	Female 10-10 100 Back	12		
DQ	F	# 310B	Female 10-10 100 IM			
46.92S	F	# 401B	Female 10-10 50 Back	11		-2.18
40.40S	F	# 405B	Female 10-10 50 Free	14		0.64
3:25.28S	F	# 409B	Female 10-10 200 Free	11		3.24
Jonathan Rudd	(9) M					
47.47S	F	# 301A	Male 9-9 50 Back	8		1.36
42.22S	F	# 305A	Male 9-9 50 Free	7		0.09
DQ	F	# 307A	Male 9-9 100 Breast			
3:30.47S	F	# 309A	Male 9-9 200 Free	7		13.22
NS	F	# 402A	Male 9-9 50 Breast			
1:35.95S	F	# 404A	Male 9-9 100 Free	7		1.73
1:45.15S	F	# 408A	Male 9-9 100 Back	3		5.34
1:56.56S	F	# 410A	Male 9-9 100 IM	9		12.66
William Rudd ((12) M					
39.35S		# 301D	Male 12-12 50 Back	9		-0.75
1:37.17S	F	# 303D	Male 12-12 100 Fly	6		3.48
35.23S	F	# 305D	Male 12-12 50 Free	10		0.34
1:49.20S	F	# 307D	Male 12-12 100 Breast	14		
2:52.19S		# 309D	Male 12-12 200 Free	10		-3.60
47.37S		# 402D	Male 12-12 50 Breast	11		-0.02
1:18.30S		# 404D	Male 12-12 100 Free	12		-0.73
40.76S	F		Male 12-12 50 Fly	8		1.72
1:31.48S		# 410D	Male 12-12 100 IM	13		2.29

Time	F/P/S	Event	Place	Points	Improv
Leili Shirvani (11) F				
53.85S	F #302C	Female 11-11 50 Breast	17		-2.74
1:23.98S	F #304C	Female 11-11 100 Free	17		-10.01
43.79S	F #306C	Female 11-11 50 Fly	12		-2.90
1:39.33S	F #308C	Female 11-11 100 Back	17		-5.26
1:37.04S	F #310C	Female 11-11 100 IM	16		-8.61
46.28S	F #401C	Female 11-11 50 Back	17		-0.59
1:45.24S	F #403C	Female 11-11 100 Fly	3		-2.05
38.22S	F #405C	Female 11-11 50 Free	19		-1.25
3:04.26S	F #409C	Female 11-11 200 Free	9		-9.64
Harry Sinclair	(10) M				
38.11S	F #301B	Male 10-10 50 Back	2		-1.30
1:35.97S	F #303B	Male 10-10 100 Fly	1		-2.83
34.19S	F #305B	Male 10-10 50 Free	1		1.01
1:35.10S	F #307B	Male 10-10 100 Breast	1		-1.04
2:50.67S	F #309B	Male 10-10 200 Free	4		-2.43
1:17.39S	F #404B	Male 10-10 100 Free	3		
39.63S	F #406B	Male 10-10 50 Fly	1		0.37
1:26.51S	F #408B	Male 10-10 100 Back	2		
1:29.35S	F #410B	Male 10-10 100 IM	3		-0.05
Josephine Surm	ninski (9) F				
NS	F #310A	Female 9-9 100 IM			
47.69S	F #401A	Female 9-9 50 Back	4		1.51
1:51.40S	F #407A	Female 9-9 100 Breast	2		4.46
3:17.20S	F #409A	Female 9-9 200 Free	2		-4.24
Daphne Welter	(10) F				
51.12S	F #302B	Female 10-10 50 Breast	13		1.21
1:43.99S	F #308B	Female 10-10 100 Back	15		
1:47.40S	F #310B	Female 10-10 100 IM	17		1.20
42.53S	F #405B	Female 10-10 50 Free	21		-0.88
1:55.698	F #407B	Female 10-10 100 Breast	10		4.39
Naomi Welter (46.41S	F # 302D	Female 12-12 50 Breast	19		-1.47
1:32.56S	F #308D	Female 12-12 100 Back	12		
1:34.30S	F #310D	Female 12-12 100 IM	21		-0.70
1:41.90S	F #407D	Female 12-12 100 Breast	12		-3.29
3:00.14S	F # 409D	Female 12-12 200 Free	16		-3.32
		1 5 12 12 200 1100			3.32
Mehmet Zeren 40.13S	F #301A	Male 9-9 50 Back	2		-5.42
35.06S	F #305A	Male 9-9 50 Free	1		-2.90
2:55.14S	F #309A	Male 9-9 200 Free	2		-19.32
1:20.35S	F # 404A	Male 9-9 100 Free	2		-19.32
44.21S	F #404A	Male 9-9 50 Fly	2		-5.09
DQ	F #410A	Male 9-9 100 IM			-3.09
DQ	1 π +10A	14101C 7-7 100 1141			